Installation guide:

The antenna can be installed on steal framed structure or bracket by own antenna bracket, and

connect with reader with coaxial line.
The antenna can be installed horizontally or vertically, it is decided by installation location, the

angle can be adjusted after installation according to the real environment.
Antenna bracket is an optional accessory, you can choose according to your special requirement.

Installation Dimension:

(=—37.8-=

== 200~

Installation Steps:

Step 1: Fix the L board on the antenna by using M6 screw,elastic washer and plain washer

L board(bracket)

M6 screw,elastic washer and
2 plain washer,

| 1




1.2: The L board have been fixed on the antenna

Step 2: Please use M6 screw,M6 U style screw bolt elastic washer and plain washer and “Dog
tooth” to fix antenna on pole

M8 screw elastic washer and
:_1 | plain washer, -
2 Dog tooth

M8 U style screw bolt

| 3




Antenna performance figure :

Ml 51 seaw 2000/ Ref L0

B Q. COe0R g DL JESd

WAL GODOD Wwp 7, rARY

i .00000 W 080T
»é GFELOO0DD weT  1.0T1E

{The VSWR)

dB{GainToatal)
. 35301 o +E08
i, 7703 -EOR
18 T9e-20R
5567 :+508
. 9H5E s+ B8
3345 e-E0E
7299e-E0R
L1122 c+E08
CD1DE -0l
 1BDEe=F01
7. 2121 =-E01
. 3323 p+20E
9435 p-E0E
. 5540 e=E00
. 16508 c+B08
. T7ESe-20E
. 3882e-208

( The radiation pattern)

Common Problems and Attentions:

1. The antenna is a circular polarization antenna. Please kindly adjust the angle to get the best
reading performance in practical applications.

2. The antenna can be used at the outdoor environments, but it’s not good to use it in an
acid/alkali environment.



